
888-45-017-02 rev.D • 7/06 1 of 14

2x

INSTALLATION MANUAL

400 Series Flat Panel Monitor Arms
& Keyboard Arms
Horizontal Mount - Suspension & Surface

1x

1x

Alcohol Prep

Sterile

#6-32 x 3/8" (9.52mm)

1/4-20 x 1.75" (44.45mm)

4x

1/4" (6.35 mm)

1/4" (6.35 mm) - 20

4x

4x

1x

1x

USA 1-800-383-1916
Europe +31 20 312.29.39

1x

75 - 100 mm

#8-32

3/32"
(2.38mm)

3
(

1/8"
(3.15mm)

4x

M4 x 10 mm

M4 x 10 mmg
h

USA  1-800-888-8458
Europe  +31 (0)33-45 45 600

#6-32x1/2"

2x

4x



888-45-017-02 rev.D • 7/062 of 14

888-60-059

1

2
1

888-99-014
2

1

Ergonomics
Ergonomía
Ergonomie
Ergonomi

      Rev D. 08/02  1 of 17 888-99-014-03

operation for a wide range of users - whether 
sitting, standing or in sit/stand situations.

The dimensioned drawings and formulas 
contained in this guide can be used to determine 
the ergonomically correct mounting height of 
any of Ergotron's Flat Panel Monitor/Keyboard 
solutions mounted to either a vertical or 
a horizontal surface. If mounting above a 
worksurface, mounting heights may change due 
to various worksurface heights.

The Anthropometric Table on page 17 shows how 
mounting heights are calculated based on the eye 
and elbow heights of male and female operators.

Center
Line of

mounting
holes

Top
of

Screen

Front View

Back View

X

Side View

X

=  Distance between Center line of Mounting Holes and Top of Monitor Screen.

To Mount your Flat Panel Monitor or Keyboard at an ergonomically 
correct height, start at step 1 and continue as directed.

2

+

3

INSTALLATION INSTRUCTIONS

Desk Clamp Kit

Patents Pending & patented U.S. &  Foreign.

Ergotron is a registered trademark of Ergotron, Inc.
Reproduction of this material in whole or part for any purpose
other than that authorized by Ergotron, Inc. is prohibited.

© 1999 Ergotron Inc. All rights reserved.

1181 Trapp Road ■ St. Paul, MN 55121
800-888-8458■ in MN: 651-681-7600
Fax: 651-681-7717 ■ www.ergotron.com

888-60-059 Rev.00-01/99

Step 1
Secure Clamp Bracket  to worksurface.

Step 2
Secure Flat Panel Monitor Arm to the
Clamp Bracket.

Clamp Screws (2)

Worksurface

Made in U.S.A.

Read these instructions carefully
and follow all steps in sequence.

Clamp
Bracket

#8-32 x 1/4''
button head
cap screws (4)

3/32'' hex.
wrench

A B C

A

A

B x 4

C

Flat Panel
Monitor Arm

4

+

+

c

a

b

Ø5/16"
(8mm)

888-99-014 
2

1

Ergonomics
Ergonomía
Ergonomie
Ergonomi



888-45-017-02 rev.D • 7/06 3 of 14

x

x =/< 1.37"
(34.8 mm)

2
1

Suspension
Arm

This side up

This
Side
Up

b1

1/4-20 x 1.75"
(44.45mm)

4x

1/4"- 20 
(6.35 mm)

1/4"
(6.35 mm)4x

4x

b2

b3

b

Ø5/16"
(8mm)



888-45-017-02 rev.D • 7/064 of 14

1/4-20 x 1.75"
(44.45mm)

4x

1/4"- 20 
(6.35 mm)

1/4"
(6.35 mm)

4x

4x

x =/< 1.37"
(34.8 mm)

x
2

1

Surface
Mounted Arm

This side u

c1

c2

c3

c



888-45-017-02 rev.D • 7/06 5 of 14

3

6

75 mm

7

100 mm

USA 1-800-383-1916
Europe +31 20 312.29.39

X mm

5

888-77-009
      Rev C. 06/01  page 1 of 6 888-77-009

Keyboard & Mouse 
Trays

INSTALLATION MANUAL

77-049-000
Keyboard Tray

85-024-000
Sliding Mouse Tray
and Wrist Rest

85-014-000
Front Mouse Tray

77-050-000
Extending Keyboard
Tray with Sliding Mouse Tray

Components, Fasteners
& Tools .........................................page 2

Mounting 77-049-000 to
Keyboard or Pivot .........................page 2

Mounting 77-050-000 to
Keyboard or Pivot .........................page 3

Mounting 85-014-000
Front Mouse Tray .........................page 3

Assembly & Mounting of
85-024-000 ...................................page 4

Attaching Optional Keyboard 
Wrist Rest .....................................page 5

Adjusting Keyboard Extension ................
......................................................page 6

Attaching Keyboard to Tray..........page 6

Read these instructions carefully and 
follow all steps in sequence.

For further assistance, please contact
Ergotron Customer Service 
at 1-800-383-1916

e

d

f

d

USA  1-800-888-8458
Europe  +31 (0)33-45 45 600



888-45-017-02 rev.D • 7/066 of 14

75 mm

M4 x 10 mm

If your monitor uses a screw 
size other than M4 x 10mm, DO 
NOT use the M4 x 10mm screws 
or knob provided as they could 
result in damage to the monitor.

Indien uw monitor voorzien is 
van een ander type schroef dan 
de M4 X 10 mm, gebruik dan 
beslist niet de door Ergotron 
geleverde M4 X 10mm schroeven 
of schroefknoppen, want deze 

kunnen de monitor beschadigen.

!

g

h

e

M4 x 10 mm



888-45-017-02 rev.D • 7/06 7 of 14

100 mm

3/32"
(2.38mm)

3
(

1/8"
(3.15mm)

#8-32

4x

If your monitor uses a screw 
size other than M4 x 10mm, DO 
NOT use the M4 x 10mm screws 
or knob provided as they could 
result in damage to the monitor.

Indien uw monitor voorzien is 
van een ander type schroef dan 
de M4 X 10 mm, gebruik dan 
beslist niet de door Ergotron 
geleverde M4 X 10mm schroeven 
of schroefknoppen, want deze 

kunnen de monitor beschadigen.

!

f1

f2

f

M4 x 10 mm

g

h

M4 x 10 mm



888-45-017-02 rev.D • 7/068 of 14

4a

4c

4

4b

#6-32 x 3/8" (9.52mm)2x

4g4d 4e 4f

4j4i4h

Alcohol Prep

Sterile

#6-32x1/2"
1x



888-45-017-02 rev.D • 7/06 9 of 14

5

6a 6b 6c

6

a b c



888-45-017-02 rev.D • 7/0610 of 14

OVERVIEW
Ergotron's 400 Series Horizontal Mount, Flat Panel Monitor Arms are factory-
set to provide positive pivot control and a smooth moving force throughout 
the entire range of motion. To customize your installation, you will evaluate 
the operation of each function by moving the Arms through their full range of 
movement. If excessive force is required to move the Arms or if the Arms do 
not stay in the desired position, adjustment is required. Adjust for a controlled 
motion of the Arms over the entire range of travel. Specifi c adjustment 
procedures for each function are found on the following pages.

a b

c d

11

7

10

10

Adjustment
Justering
Justierung
Ajustement
Bijstelling
Ajuste
Regolanzione

!!

1/2"
(13mm)

9/16"
(14mm)

9/16"
(14mm)

1/2"
(13mm)

1x

3/16"
(4.76mm)1x

1x

1x

10



888-45-017-02 rev.D • 7/06 11 of 14

a

a3a2

1/2"
(13mm)

1/2"
(13mm)

c1 c2

b2b1 b3

c3

1/2"
(13mm)

1/2"
(13mm)

1/2"
(13mm)

c

b

a1



888-45-017-02 rev.D • 7/0612 of 14

d

d2d1

3/16"
(4.76mm)

lbs.

<5
6-7
8-9

10-12
13-14
15-17
18-20
21-23
24-26
27-28

--

A
B
C
D
E
F
G
H
I
J
K

kgs.

(<2.3)
(2.7-3.2)
(3.6-4.1)
(4.5-5.4)
(5.9-6.4)
(6.8-7.3)
(8.2-9.1)

(8.6-10.4)
(10.9-11.8)
(12.3-12.7)

--

lbs.

<5
6-7
8-9

10-11
12-14
15-16
17-18
19-20
21-22

23
--

A
B
C
D
E
F
G
H
I
J
K

kgs.

(<2.3)
(2.7-3.2)
(3.6-4.1)
(4.5-5.0)
(5.4-6.4)
(6.8-7.3)
(7.7-8.2)
(8.6-9.1)

(9.5-10.0)
(10.4)
--

9/16"
(14mm)

NOTE: Follow this step 
only if correct tension 
was not achieved in d3 .

9/16"
(14mm)

d4 d5

d3



888-45-017-02 rev.D • 7/06 13 of 14

? TROUBLE SHOOTING

Symptom Probable Cause Solution

Monitor pivots Up and Down too 
diffi cult or too easy (sags)

Improper Pivot tension

Monitor exceeds Weight Capacity*

Monitor pivots Side-to-Side too 
diffi cult or too easy

Improper Pivot tension

Monitor rotates from Portrait to 
Landscape too diffi cult or too easy

Improper Pivot tension

Arm moves Up and Down too
diffi cult or too easy (sags)

Improper Arm tension

Load exceeds Weight Capacity*

b

c

a

d

a b c d 12

12

11

11 11

d6 d7 d8

11

11

11

* Weight Capacity:

Ergotron USA 1-800-383-1916
Ergotron Europe +31 20 312.29.39

5 - 28 lbs. (2.27 - 12.71 kgs)

5 - 28 lbs. (2.27 - 12.71 kgs)

5 - 15 lbs. (2.27 - 6.8 kgs)5 - 23 lbs. (2.27 - 10.44 kgs)

Ergotron USA 1-800-383-1916
Ergotron Europe +31 20 312.29.39

USA  1-800-888-8458
Europe  +31 (0)33-45 45 600

USA  1-800-888-8458
Europe  +31 (0)33-45 45 600



888-45-017-02 rev.D • 7/0614 of 14

© 2006 Ergotron, Inc.
All rights reserved.

While Ergotron, Inc. makes every effort to provide accurate and complete information on the installation and use of its products, it will not be held liable for any editorial 
errors or omissions (including those made in the process of translation from English to another language), or for incidental, special or consequential damages of any nature 
resulting from furnishing this instruction and performance of equipment in connection with this instruction. Ergotron, Inc. reserves the right to make changes in the product 
design and/or product documentation without notification to its users.  For the most current product information, or to know if this document is available in languages other 
than those herein, please contact Ergotron Customer Care at: 800-888-8458 or consult the Ergotron, Inc. website at: www.ergotron.com.  No part of this publication may be 
reproduced, stored in a retrieval system, or transmitted in any form or by any means, electronic, mechanical, photocopying, recording or otherwise without the prior written 
consent of Ergotron, Inc.,1181 Trapp Road, Eagan, Minnesota, 55121, USA Patents Pending and Patented U.S. & Foreign. Ergotron is a registered trademark of Ergotron, Inc. 

For Warranty information in other languages 
contact customer service. USA  1-800-888-8458

Europe  +31 (0)33-45 45 600


